Name Date Class
Chapter Test
3l Form A
Select the best answer. 6. Simplify - 1 2
1. Which equation is best represented A x+ 1 c X+ 1
by the statement “x varies jointly with 1—-x
yand z”? B X+ 1 X+ 1
— 2
A x = kyz B x= }f(z x—1 (x—=1)
7. Which of the following is

2. Pvaries inversely with Q, and P = 12
when Q = 8. Find Pwhen Q = 3.

A2

B 45
C 32
D 96
3. Based on the data set, which statement
is true?
A 10 3 15
B 5 8 10
(o 3 16 4

A A varies jointly with B and C.
B B varies jointly with A and C.
C C varies jointly with A and B.

D C varies directly with A and
inversely with B.

4. Simplify 6x 18 ><x +5x+6
—4 x° -9
6
Ax—2
B 6X+12
x> - x—6

5. Find the solution set for the equation

2
X~ —6x+8 _
=5 = 5.
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10.

11.

equal to —X—?
11
X
x—1 x—1
A~ C *—
2
X X
Bx—1 Dx—1

Ted walks from his home to the post
office at an average rate of 3 miles per
hour. He then walks back at an average
rate of 5 miles per hour. What is his
average rate for the entire trip?

A 3.6 mph

B 3.75 mph

C 4 mph

D 4.3 mph

Which function is continuous?

A Alx) =

1+x
B B(x) =

1+x

x— 12
xX+2°

Identify all asymptotes of f(x) = 3

A vertical asymptote: x = —2;
horizontal asymptote: y = 3

B vertical asymptote: x = —2;
horizontal asymptote: y = 4

Which function has a hole in its graph?

A Ax) = w
x2 — 4

_ X2+ 4x— 4

B B(x) 72
CB(X):)M
xX° + 4
DB(x)—w
x>+ 4
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Name

Date Class

Chapter Test

8 Form A continued

12. Which of the following could be the
equation for the graph?

///
L—T
A a(x)=X+2
X — 2
_x—-2
Bb(x)—X+2
Cocx)=2x+1
X—2
_2x+1
D d(x) = T
13. How many solutions are there to the
i =17
equatlonx+1+xz_1 1%
AO
B 1
Cc2

D an infinite number

14. Working alone, Machine A can produce
1000 widgets in 6 hours. Working alone,
Machine B can produce 1000 widgets
in 9 hours. How long will it take the two
machines to produce the 1000 widgets

if they are both used at the same time?
A 3 hours and 36 minutes
B 3 hours and 45 minutes

Vi,

15. e

Which expression is equal to
A X%y%

35
B X2y?2
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16. Which is equal to 10?
A (vVi0) (W10) (V/10)
B (V10) (V10) (V10)

Which could be the equation for
the graph?

17.

/

Aax)=Vx-5-2
B b(x)=V5—-x—2
Ccx)=-Vx—-5-2
D dx)=-V5—-—x—-2

18. Solve V5x — 2 = 2V2x — 5.
A x=-8
B x=6
19. Which is an extraneous solution
toV3x+1=x—37?
A x=1
B x=5
Cx=28

D There is no extraneous solution.

20. What is the solution set to the equation
x—3=(5x—1)2?
A {10}
B {1, 10}
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Name Date Class
Chapter Test
3 Form B
Select the best answer. 6. Simplify 1 2+ o .
— 2 _
1. Which equation is best represented F _—1
by the statement “x varies directly with X% —1
y and inversely with the square of z”? G 1
2
A x= k—}zl C x= % x* =1
4 ) H 2Xx + 1
2
B x= lz D x= 27 o
4 J X+ 1
2. Pvaries directly with Q and inversely —XxZ+ x*+ x—1 .
with B, and P = 12 when Q = 8 and . N tx
’ 7. Which of the following is equal to ?
R = 6. Find Pwhen Q = 3 and R = 4. 91s€q 1
F 3 H9 A X+ 1 c X°—1
— X
G 6.75 J 16 X1 .
B Xx—1 p X~ —1
3. Based on the data set, which statement X+ 1 x2
Is true? 8. Ted walks from his home to the post
office at an average rate of 3 miles per
A 12 18 32 hour. He then runs back at an average
B 9 18 12 rate of 7 miles per hour. What is his
C 3 4 15 average rate for the entire trip?
F 4.2 mph H 5 mph
A A varies jointly with B.and C. G 4.6 mph J 5.3 mph
B A varies directly with B and inversely 9. Which function is continuous?
with C. A Ao = - (o C(x). =X
C C varies directly with A and inversely 1—x 1+ x°
with B. B Boo) = —] 5 D Doo=—%_
D C varies jointly with A and B. T—x 1T+ x
10. | ify all f
4. Simplity 2 4 3x — 10 . 4 x—6 | 0. Identify a2 isgr:p_todtfes o]
x> —2x—15 x?+6x+9 foo = X TeX— 2
5 2 4 8x + 15 o o2 :
F X + H X toXt+ 1o . : _ 1
X—5 Z — 7x+ 10 F vertical asymptotes: x 5 and 1
G X+3 (x —2)2(x+5) X = 2; horizontal asymptote:y=§
x—3 (x+3)%(x—5) G vertical asymptotes: x = —% and
5. Find the solution set for the equation x = 2; horizontal asymptotes:
3—x_3 y=1andy=-4
24
X" =9 H vertical asymptotes: x = 1 and
10 8 2 ’
A {—7} c [g} X = —2; horizontal asymptote: y = 5
: 1
8 10 J vertical asymptotes: x = ~ and
B { 3] D [3] 2
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X = 2; horizontal asymptote:
y=1landy=-4
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Name

Date Class

Chapter Test

12.

13.

14.

8 Form B continued
11.

Which function has a hole in its graph
at (2,4)?
A Alx) = x> —4x+4
X — 4
B B(x) = X+ 4x + 4
x° — 4
_x*—5x+4
C oo x> —3x+2
x° -4

D D(x) = =¥——
X —3x+2

Which of the following could be the
equation for the graph?

||
/1
\
| N~
\
// \
|
F foo=—,X+t6
X +2x6—8
Gagx) =_X—"o°
g x° —2x—8
Hh(X):2X2+X_16
x> —2x—8
2
Jj(x)=2)2(+x+6
X +2x—8

What is the sum of all the solutions of

ion 2 4 _ g9

the equation & + T+ 94
1 1
A 3 c 3

BO

Working alone, Eric can paint a room
in 9 hours. Eric and Matt working
together can paint the room in 4 hours.
How long will it take Matt to paint the
room working alone?

F 6 hours and 30 minutes

G 7 hours

H 7 hours and 12 minutes

J 7 hours and 20 minutes

D 1
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15.

16.

17.

18.

19.

20.

Vo,
vy

Which expression is equal to

a

5 3 73
A xaya C y_i
X2
5 7 1
B X4y4 D X4y4

Which is equal to an integer?
F V9(V243)

G V27(V81)

H V/81(V/243)

J V27(V243)

Which could be the equation for
the graph?

/

A f(x)=-V2—x+1

B f(x) =V2 - x+ 1

C fx)=-Vx—2+ 1

D f(x) =-V-(x+2) + 1

Solve V3x + 3 = 6Vx — 10.

F 11 H 21

G 16 J no solution

Which is an extraneous solution to
Véex + 1 =2x—-3?

A x=-4

B x= %

C x=4

D There is no extraneous solution.
What is the solution set to the equation
x—2=38x+ 4)%?
F {-3}

G {0, 3}

H {7}
J {0,7}
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Name

is true?

. Pvaries directly with Q and inversely
with R, and P = 3 when Q = 8 and
R = 6. Find Qwhen P=0.5and R = 4.

9 9
F 16 H 2
8 9
G§ J§

. Based on the data set, which statement
is true?

A 0.6 | 0.12 1
B 12 6 0.5
(o 8 10 0.2

A A varies jointly with B and C.

B A varies directly with B and inversely
with C.

C C varies directly with A and inversely
with B.

D C varies jointly with A and B.

e, 1 — X2 x° —2x+ 1
. Simplif - .
P e x + 1 x3 =1
(x—1)2
B (x—1°?
G-(x+1) J i
. Find the sum of the solutions to the
3
equation %5— 8_7
A -3 CcCo
B 2 D 1
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10.

Date Class
Chapter Test
Form C
2
Select the best answer. 6. Simplify )1( + 1( + X -
- 2 _
1. If x varies directly with y and inversely F —2x—1 H ox2 _ oy — 4
with z, which of the following statements X2 — 1 1 — x2
. : 2x% + 2x + 1 —2x%—2x—1
A y varies jointly with x and z. 2 — 1 CrxZ— x—1
B zvaries jointly with x and y. 1
C y varies directly with x and inversely 7. Which of the following is equal to ’1( ?
with z. 1-—
. . , , X X
D zvaries directly with x and inversely A x C = ]
with y. 1 12 _1
B X D X

Ted walks from his home to the post
office at an average rate of 3 miles per
hour. He then runs back at an average
rate of x miles per hour. Find x if his
average for the entire trip is 4.5 mph.

F 6 mph H 7.5 mph
G 7 mph J 9 mph
Which function is continuous?
_ 1
A Alx) = T
B B(X) = %
X“+x+1
C C(X) = %
X“+2x+ 1
D D(x) = X

x° 4+ 2x% + 3x + 1

Identify all asymptotes of
2
f(x) = 2x° —7x+ 3

3x* — 5x — 12
F vertical asymptote: x = —%; horizontal
asymptote: y = %
G vertical asymptote: x = —%; horizontal
asymptotes: y = % and y =3
H vertical asymptotes: x = —% and
x = 3; horizontal asymptote: y = %
J vertical asymptotes: x = —% and
x = 3; horizontal asymptotes: y = %

andy =3
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Name

Date Class

Chapter Test

3l Form C continued

11. Which function has a hole in its graph
at (2,-1)7?

AA(X)ZM
X2 —4
BB(x)=%
— 4
CCx=—X=-9
X+ Xx—6
DD(X)ZW
X+ Xx—6

12. Which of the following could be the

equation for the graph?

l
/

/1)
[
I
F i) =52X—2
X +2x—8
2x° + x— 6
Ggx)=e2 2 2
g x> +2x—8
2
- +
H hix)=2X +x+6
X+ 2x — 8
2
JI(X):2)2( + x4+ 6
X+ 2x — 8
13. What is the sum of all the solutions of
1 4 _5,
the equation % +1+x—1 5
4
A0 C3
B% D2

14. Working alone, Eric can paint a room
in 8 hours. Eric and Matt working
together can paint the room in 4 hours
and 48 minutes. How long will it take

Matt to paint the room working alone?
F 10 hours H 12 hours
G 11.2 hours J 13.2 hours

15. Which expression is equal to

11, 7 9 11
A x2y2z C xaysz4

-3 9 13 5
B X4y4z4 D X4yaz4a
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16.

17.

18.

19.

20.

Which is equal to an integer?

V16)(V2)
6)(vV2)
2)(V2)
J (%)(\733)(\75)

Which could be the equation for
the graph?

V8) (V16
()(
V8) (V32

-

—
A alx)=-Vv2 —x+1
B b(x)=V2—x+1
Cclx)=-V6—x+3

D dx)=Vv6—-x+3

Which equation has no real solution?

F vV2x+1 =2Vx+ 3
G Vix+1=2Vx+3
H Vdx+ 12 =2Vx+ 3

J Vdx+1=vV2x+ 3
Which is an extraneous solution to
V3x—1=3x—-77
= §
A x 3
= 1_0
B x 3

C x= g and x = 130 are both

extraneous solutions.
D There is no extraneous solution.
What is the solution set to the
equation (6x — 1)% = (2x + 1)%?
F O H {1.5}
G {0} J {0, 1.5}
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Name

Date Class
Chapter Test
Form A
1. Write an equation that represents the 9. If f(x) = — 1 is a continuous function,

statement “P varies directly with Q and
inversely with 7.”

. Pvaries directly with Q and inversely
with R, and P = 18 when Q = 6 and
R = 2. Find Pwhen Q=20 and R = 10.

. Based on the data set, how does A vary
with Band C?

A
B

(o

60
5
3

64 48

x> — 16
Z_6x+8

5x — 10
3x + 12

. Simplify
X

. Find the solution set for the equation

4x% — 25 _
o 14.

2
X+ 3

3

+ > .
X+ 7x+ 12

. Simplify

X—2

. Simplify .
=%

. Carol drives her daughter to school at
an average rate of 30 miles per hour, but
only goes an average rate of 20 miles
per hour on the way home because of
traffic. What is her average rate for the
entire round trip?
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x° — a

what must be true of a?

10. Identify all asymptotes of

fx) = X=2
x“—9

11. At what point does the function

f(x) = X+ 2

5 have a hole?
X“+5x+6

12. The graph below has a vertical
asymptote at x = 3, a horizontal
asymptote at y = 0, and passes through
the point (4, 2). What could be the
function of this graph?

13. Find the solution set for the equation

3 10
x+1 x%4+2x+1

Holt Algebra 2



Name

Chapter Test

14.

Form A continued

Pipe A can fill a pool in 8 hours. Pipe B
can fill the pool in 4 hours. How long will
it take Pipes A and B to fill the pool if
they are both used?

15.

16.

17.

18.

19.

20.

simplify (\/xy®) (\/x2y) and express

with rational exponents.

Simplify (V4) (\V/4),

If foxo = vx — 1 is transformed by
translating it 2 units up, and then
reflecting it over the x-axis, what will
the resulting function be?

Solve V6x + 5 = V41 — 2x.

Find the solution set to
V3x — 3 =2x — 5.

Solve the equation 2x — 4 = (6 — 2X)%.
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Name

Chapter Test

1.

Date Class

Form B

Write an equation that represents the
statement “P varies directly with Q and
inversely with the product of Rand T.”

. Pvaries directly with Q and inversely

with R, and P = 10 when Q = 5 and
R = 6. Find Pwhen Q = 6 and R = 4.

. Based on the data set, how does A vary

with Band C?
A 9 6 12
B 5 20 15
(o 3 8 12
. Simplify

x2—9x—36 . 2x° —21x— 36

x> —3x—18 2x> + 15x + 18’

. Find the solution set for the equation

X+2 _2
x> -4 3
. 1 X+ 1
.Slmpln‘y2 — X+ R
_1
. Simplify ’1(
X+ <
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8.

10.

11.

12.

Emmett runs once around the school
track at an average rate of 8 miles per
hour. Then he jogs once around the track
at an average rate of 6 miles per hour.
What is his average rate for the two laps
of the track?

X— a
X2 —6x+ a

function, what must be true of a?

If foo = is a continuous

9x° — 4

Identify all asymptotes of f(x) = .
y ymp 4x% — 9

At what point does the function
6x — 12

x> —5x+6

foo = have a hole?

The graph below has a vertical
asymptote at x = 1, a horizontal
asymptote at y = 2, and an x-intercept
at (-4, 0). What could be the function
of this graph?

Holt Algebra 2



Name

Chapter Test

14.

15.

16.

17.

18.

19.

20.

13.

Form B continued

Find the solution set for the equation
246 _—1s

X x+ 1

Inlet pipe #1 can fill a pool in 8 hours.

Inlet pipes #1 and #2 together can fill the
pool in 6 hours. How long will it take inlet

pipe #2 to fill the pool by itself?

Vaxy® VU x%y
Xy

rational exponents.

Simplify and express with

Simplify (v8)(V/8).

If foxo = vx — 1 is transformed by
translating it 2 units to the right, then
reflecting it over the x-axis, and finally
translating it 3 units down, what will
the resulting function be?

Solve V8x + 3 = 2V/7x — 3.

Find the solution set to

Vex — 5 =2x— 3.

Solve the equation x — 5 = (4x + 1 )%.
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Name

Date Class

Chapter Test

38 Form C

1. If P varies jointly with Q and R and
inversely with 7, how does Q vary with
P, R and T?

2. Pvaries directly with Q and inversely
with R, and P = J

A =1 Find Pwhen Q =% and R =

when Q =% and

1
5

3. Based on the data set, how does A vary
with Band C?
A 2 0.5 1
B 1 0.25 4
(o 0.5 8 0.25
4. 1fX°—38x—18 . x*—4x—-12 _1
D x> -3x—-10 2
what polynomial is D equal to?
5. Find the solution set for the equation
X+3 _2x=-1
X -9 4x® -1
U 1 1
6. S|mpI|fy1 — T+ x
41
7. Simplify 44;1
1+
x—1
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8. Emmett walks once around the school
track at an average rate of x miles per
hour. Then he jogs once around the
track at an average rate that is 3 miles
per hour faster than his walking rate. If
his average rate for the two laps of the
track is 8.75 miles per hour, what was
his walking rate?

X— a
2x> —6x— a
function, what must be true of a?

If f(x) = is a continuous

10.

2
Identify all asymptotes of f(x) = 162;’(

4x® — 1

11. At what point does the function

2
f(x) = % have a hole?
X

12. The graph below has a vertical
asymptote at x = 1, a horizontal
asymptote at y = 2, an x-intercept

at (-4, 0), and a hole at (6, 4). What

could be the function of this graph?

\

\

N
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Name

Date Class

Chapter Test

3l Form C continued

13. Find the solution set for the equation

3 1 _ 2
5(+3x—4 8 — x

14. It takes Printer A, working alone,

an hour and a half longer to do a job
than it takes Printer B working alone.
Together they can do the job in 3 hours
and 20 minutes. How long does it take

Printer A alone?

Vo?
3/ 2

Xy
rational exponents.

15. Simplify and express with

16. Simplify (vV2) (V4) (V/32).

17. If foo = vx — 1 is transformed by
translating it 2 units to the right, then
stretching it horizontally by a factor
of 2, and then finally reflecting it over
the y-axis, what will the resulting

function be?

18. Find a if the solution to

V8x + 3 = 2Vax — b is the set of

all real numbers.

19. Find the solution set to

V24 — 9x =2 — 3x.
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20. Solve the equation (7x — 1 )% =x—1.
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Answer Key continued

CHAPTER 8 12. D
Section Quiz: Section A 13. B
1. A 14. A
2. F 15. A
3.C 16. A
4. F 17. B
5.B 18. B
6. G 19. A
7.D 20. A

8. G Chapter Test Form B
9. A 1. A
Section Quiz: Section B 2.G
1. A 3.B
2. G 4. F
3. A 5.C
4. J 6. F
5.C 7. A
6. J 8. F
7. A 9. C
8. G 10. F
Chapter Test Form A 1n.D
1. A 12. J
2 C 13. A
3. B 14. H
4. A 15. C
5. A 16. J
6. A 17. A
7.D 18. F
8. B 19. B
9. A 20. H

10. A Chapter Test Form C
1. A 1. A
2. G
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Answer Key continued

3.B 14. 2 hours and 40 minutes
4. G 15. x%y%
5.B 16. 4
6. F 17. g(x) = —vx — 1
7. A 18. x =45
8.J 19. {4}
9. B 20. x=25
10. F Chapter Test Form B
11. D _ kQ
1. P a7
12. J 2. 18
13. C 3. Avaries directly with C and inversely
14. H with B
+6
15. B 4. T(TS
16. F 7
5. 3]
17. C 6. —1
" 2
18. G XT—4
2
7. X —1
19. A 211
20. H 8. 7.5 mph
Chapter Test Form A 9.a>9
_ kQ _ _1. —
1. = 10. HA:ty— T VA at x iz
2. 12 11. (1,5)
3. Avaries jointly with B with C; A = kBC 12. f(x) = 2X+ 8
4 5 x—1
'3 3. (-2, 1]
5. {4.5} 3’5
6. . 2x+11 14. 24 hours
x2X+ 7x + 12 15, b2
. X
7. X+ 2 y
8. 24 mph 16. 2
9.a<9 17. glx) = —vx -2 -2
10. HAaty=0; VAatx = =3 18-X=%
1. (-2,1) 19. {7]
12. fx) = —2 20. x = 12
x—3
13. {—3, 4}
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Answer Key continued

Chapter Test Form C

1.

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Q= k—g-; Q varies jointly with Pand T
and inversely with R.
. 2%) or 0.45
A= BLC; A varies inversely with the
product of B and C.
. 2x% — 4x - 30
{—4}
2X
1 —x?
x—1
X+ 1
7.5 mph
a< -5
HAaty=%; VA at x = tg
(2, —6)
f(x) = 2X° — 4x — 48
x> —7x+6
24
(55 4]
6 hours
_1 7
X Ey@
4
glx) = —lx—2 -1
2
- -3
a=2>b= 7
_4
-3
{—1, 4}

Performance Assessment

1.

2.

RO =5=%

(x—2)

RX = ==
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7.

. The numerator and denominator must

have the same degree, and the leading
coefficient of the numerator must be
two times the leading coefficient of the
denominator.

F.)(X) — 2(X_ a)(X_ 2)

(x—3)(x—2)
. For the function R’ (x) = 2((%—33)),
R 2) = —-2. X

2@—-a) _ _,.4—-2a_ _,.
2-3) 2 -1 2;
4 -2a=2;a=1.

Rix)=2X— Dx—2) _2x* — 6x + 4

x—-3(Xx—2) x2_5x+6

Cumulative Test

1.

N = = = = el el el o=l o =
© © ® N O O ~ 0w Dd A

316

© © ® N o o e b

A
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